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QUESTION 1

John, an IBM WebSphere Portal developer, is writing a portlet to help support specialists with reproducing users\\
issues. Which WebSphere Portal feature can John use to run his task?

A. Personalization

B. People Awareness

C. User Impersonation

D. User and Groups Management
Correct Answer: C

While impersonating the user use the "My Sites" menu in the dockbar to go to any of his sites Result: The impersonation
is lost, the site is accessed as the administrator user

QUESTION 2

Assuming the device classes were correctly configured to the clients, which device class equations would be evaluated
to true for only iPhones?

A. android+smartphone

B. wotrklight+(ios/andcoid)

C. smartphone+(iosl android)

D. (android/ios)+smartphone+!blackberry

Correct Answer: D

QUESTION 3

Which statement is true regarding JSR 286 event support in IBM WebSphere Portal?
A. Events can be wired to IBM API cooperative portlets.

B. Events can be wired to JSR 168 cooperative portlets.

C. Events cannot be used in tandem with public render parameters.

D. When the "Global" check box is set on the wires page. JSR 286 event processing is automatic; wires are not needed
and. therefore, are ignored.

Correct Answer: B
nteroperability between JSR 286 portlet events and JSR 168 cooperative portlets By concept, cooperative portlets are

similar to JSR 286 portlet events. Both concepts describe publish/subscribe communication patterns that are based on
typed information that is published and received by portlets and propagated via communication links.
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Because the concepts are quite similar, the portal supports data exchange between JSR 168 cooperative portlets and
JSR 286 portlets that support events. This means that you can extend an existing setup using JSR 168 cooperative
portlets with new JSR 286 portlets and that you can smoothly migrate individual cooperative portlets to the new API
without losing communication possibilities.

QUESTION 4
Kaveri needs to develop a portletthat uses Ajax Proxy to get the news feed from the URL

http:/Avww.ibm.com/developerworks/news/dw_dwtp.rss. The following configuration information is present in the proxy-
config.xml:

Which is the correct URL to use in the Ajax call?

A. http://myportal.com:10040/wps/devworks/news/dw_dwtp.rss

B. http://myportaLcom:10040Avps/proxy/devworks/news/dw_dwtp.rss

C. http://myportal.com:10040/wps/proxy/http/www.ibmxom/developerworks/news/dw_dwtp.rss

D. http://myportaL.com:10040/wps/devworks/http/www.ibm.com/developerworks/news/dw_dwtp.rss

Correct Answer: D

QUESTION 5

What notable difference does a custom portlet service have that is compatible with earlier versions of IBM WebSphere
Portal?

A. The services are retrieved differently depending on the type of portlet in use.

B. Standard portlet services are synchronized, but IBM Portlet API services are not synchronized.

C. Both services are retrieved by using a JNDI call, but they always return different implementations.

D. Legacy services are stored in the session, and standard services are stored in the application object.

Correct Answer: C
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